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Attempt five questions in all.
Question No. 1 is compulsory.

All questions carry equal marks.
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1. Attempt any" five parts :
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Does the opportunity cost of producing good X increase
as more of it is produced ? Explain using a Production
Possibilities Frontier for good X and good Y.

Since market forces are able to bring about efficient
allocation of resources, there is no role of government
to play. Do you agree ? Justify your answer with
examples.

Suppose at point E of a standard indifferénce curve,
slope is 0.75, whereas, Price of X(P,) is Rs. 50 and
Price of Y(Py) is Rs. 25. Explain with reasons whether
Point E is a point of equilibrium.

Suppose that 120 countries of the world trade in a
certain crop X. One of these, a small country A, suffers
a drought and its production of X falls drastically. How
will this affect the world prices of X ? Will the incomes
of farmers in country A get affected ?

Contrast the demand curve of a competitive firm with
that of a monopolist.. What is the key reason for the
difference ? ’
Suppose there is a scientific innovation that improves
the process of manufacturing good X. How will this
impact the consumer surplus, the producer surplus, price |

and quantity in the market for good X ? 5x3

I(

3431

(3)
wxﬂﬁwﬁm .
S . maﬂ
qm @ Y # T ek

Q)



(B

(@)

3431

(5)
, e 341 o ﬁqﬁf@aaﬁmﬁ?ﬁﬁg%'

%Xaﬁ%mﬁﬁmﬁu&mﬁgw j ufer e u:&wm
W%'Wxﬁﬁmwﬁﬁqaa il

6
T, TE ST qo s e o ; ‘ :
W T b s ' ¥IE B ; e # FR AR A T
5 ' ‘ O ED a5 & | NS
e following tapje describes the production possibilities L A

o % 2 e @ @ fre d
SRR L LS S

SR F E @GO Y A w A

HA ?
il R M

B www ¥ ol s Ff oo

of two cities in Woolyland -

Shawis pPer worker

()  Which city has ap absolute advantage jp | F Y HY 'MW ?

 Producing each prodyct ? What abouyt comparative (bj e :g{ iﬁi fesit @1 ST w FrEAtated qéim

advantage ? If the cities trade with each . :

which product will each import 9 Othe: Gl ;a?iqhaf}jzﬁaq T @ o Wl
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Compare price elasticity of supply at the p01’n

Bannij i o o : ly curves S, and S,,
anning oniop €xports should decrease the intersection, ¢, for two linear supply 1
. ; ; : ; jagram. 2
‘domestic price of onjong, 3 where S, is steeper than S,. Answer using a diag
l Py
Banning single-use Plastic. will increase ¢he price : o

of cloth bags. 3
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(b)  Suppose we have market demand and supply functions:
Qp = 1000 — 2P ‘
Qg = -100 + 0.5P
(where Q_ = Quantity demanded, Qg = Quantity
'supplied, P Price) |
() Solve for equilibrium P and Q. Calculate consumer
surplus and producer surplus at equilibrium. Draw
graphs to illustrate. ' 3
Suppose a tax of Rs. 50 per unit is imposed by

the government on the buyers.

(i) Solve for the new equilibrium P and Q. 3

(iii) Explain the effect of tax in such a situation using

a diagram. - :
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What is meant by increasing returns to scale ? Provide

an example and explain. 3

(6)  Nidhi was earning Rs. 50,000 per month in the previous

Job as a fashion designer, Now, when she has ‘opened

her- own boutique, she farns a total revenue of

Rs. 1,00,000 per month. However, she installed a

machine with Em] (equated 'monthly ihstalment) of

Rs. 20,000 and pays a rent of Rs. 15,000 per month

for the boutique. She spends Rs, 10,000 in purchasing

cloth and other inputs for a month, and also pays

Rs. 8,000 per month to g salesperson. Should she

continue running the boutique in the long run or should

she return to the previous job ? 6
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Suppose for a firm MP, = 40 — 2L (where MP,
Marginal Product of labour anq L = number of labourers;
and prevailing wage in the labour market is Rs. 40
per unit of Labour. Find equilibrium number of labourers
emp‘loyed if firm operates in perfect competitioa .and
prevailing price of the product is Rs. 50 per unit. 3
Describe the factors which lead to shifts in the demand

3
curve of labour.
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